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2019(0dd)

Time : 3Hrs. Sem. VI -E/EEE
TMEM/C
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10. Explain the procedure for conducting following

11.

tests of transformer:
(1) Measurement of insulation resistance

(i1) Short circuit test
6

g & f=fafRaa odeon @ garea &
forg ufspar @) aarer R —

(i) graHoT gfaRie &) J94

(i) 3¢ afee ¥

OR (3121an)

Describe the various types of faults occurring in

electrical machines.

faega weh=l o 819 ard A= yaR & <iwl
ST quid o |

Write short notes on the following:
(a) Contractor (a switch gear) 6
(b) Temperature rise test of oil and winding of

transformer.

NT6019

(i)

(iif)

(iii)

(iv)

3 1620602

Electric shock by low voltage and low
current stops breathing..........

(a) Momentarily

(b) For longer period

(c) Both (a) and (b)

(d) None of these

=1 arec qo 9 a1 @ g1 fagga
ScdHT a9 foar & I <dT 2 |
(31) <eefore

(3) <1 9T IR @ felg

() (@) vd (@)

(]) 37° | HIg T8

CO, fire extinguisher is used to extinguish.....
(a) Electric fire

(b) Wood fire

(c¢) Flammable gas fire

(d) None of these
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Answer all Five Questions.

g uig gl & SR o

7.

6x5=30

Describe routine maintenance of synchronous
motors. what are the advantages of preventive

maintenance? 6

RIFPITE Ale & weIA IREAVT &I 9oi9 Y
AR SREAVT & T BRIST 87 SHBI ARAT
N |

OR (3121an)

Explain different types of drive used in operation of
electrical machines.

faera wel=l o <yaga A= yoR @& ara-
D AT N |

Why is mineral oil used in switch gear? Explain the

properties of mineral oil.
6

W MR 4 afas dd &1 SuanT @i fear
STl 2?7 @ivel dd & IOl &1 AT=AT IR |
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(vi)

(vii)

(vii)

(viii)

5 1620602

IReT fedl 78 <l TR =A
@1 fafer 23—

(31) Sfaa ve <& Rafa dar +

(3) HdIvoH® Ud ot faRer dar §
(@) I3 P YAdd @d R I

(%) SwRida g+

Corrective maintenance is need when:
(a) Equipment fails

(b) Equipment produces noise

(c) Equipment does not work satisfactory
(d) All of the above

GURIHE IIRET AMaeASH Idl o—
(31) WIF B HIAT 98 B Qdl ©
(@) Ga= M AT BRaT @

(@) Ga= darvgef s TE Hyar |
(?) Suiad g+

Routine maintenance of machine includes:
(a) Visual inspection

(b) Minor repair

(c) Adjustment of equipment

(d) All of the above
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OR (3721d)
A 50 H.P. motor is to be installed in your laboratory.

Describe the method of preparation of its founation

in brief.

TP 50 HP & HIeX &I AMUd YINATAT §
eefd fear o= 28 | s9a id & dary
BT 8T F 9ufq B |

Why earthlings of electrical machine is necessary?

Explain it.
faegra wefm &1 —duaa Tl snawas 272
D! ARAT B |

OR (3121d1)

Explain the maintenance process of single phase

induction motor.

Ud Holld U0 dlex 31 IRev fafr a1
AT I |
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(x)
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(xii)
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IR G HBIGR & dex d WA ygad

Bl 82—

(@7 Riferar are]

(@) fafasr oo

(\) wifsaq FaiRsS
(@) 37 9 BIg T

Buchholz relay is used in:
(a) Generator production
(b) Line protection

(¢) Transformer production
(d) All of the above

gdheles Ral &1 SyahT
ST 28—

(31) wIf = |ReEor
C)RCIER BRG]

(W) STHBIRHAR AR&EvT
(?) 37 9 @I =

The oil which is used as transformer oil is....

(a) Vegetable oil
(b) Mineral oil
(c) Animal oil

(d) None of these
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(xx)  Zero power factor method of an integrator is (xiv)  Isolator are used for disconnecting a circuit
used to find its......... under .............. condition.
(a) Efficiency (a) Load current
(b) Voltage regulation (b) No current
(c) Armature resistance (¢) Fault current
(d) None of these (d) None of these
(xx) U YAAdd & I Afdd ol fafer (xiv) IgwTeer feel uRuer &Y. aRRefy
BT SUAIT SADT ... Tl &R & oIy ¥ faesfeq ovdr -
forar simar 2 (@) ¥R grT
(31) =eran @) P$ arr TE
(@) fawa fafr= (@) Y RT
(@) srf=x ufesis (@) 37 A B E

(@) s 9 HIg T8I

(xv)  The fault clearing time of a circuit breakdown
is usually:
(a) Few seconds
(b) Few minutes
(c) Few cycles of supply voltage
(d) None of these

xv) gRue faasie &1 <Y fAarRer g9y
AT Bl 8—
(@) €5 Ad-s
@) %% fiAc
(W) U™ diecd &1 &
(?) 379 | PIs T8

% Wrsfedd
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